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QUESTION...(1)

         ANS....

          ATP synthesis

                           Atp is generated from ADP and  phosphate inos by a complex set of process occuring in the cell .these processes depend on the activities of a special group of  conezymes three important  coenzyme are nitcotinamiced adenine dinucleotide

 (NAD) nicotinamide  a denine  dinucleotide phosphate (NADP)

and flavin adenine dinuleotids(FAD).

      Defination...

            The electron  transport ETC) is a cluster of prteins that transport electrons through a membrane  within  mitochondria to from agradiat  of protons that drives the  creation of adenosine Atp  is used by the cell as the eneryg for metabolic process for cellular function NADH generates mor ATP than FADH every NADH molecules that is oxidized 10.H..ions are pumped into the intermembrane space  .they ields about three ATP molecules because FAHHenter the chain at a later stage complex 2 only six 

H.ions are transfer to the intermembrane space this account for about two ATP molecules.

* Electron transport chain...

 *     Atp is formed as the hydrogen cocentration gradient drives electron down the electron transport  system ATP is formed by directly using the energy as they travel down the electron transport system.

*The energy released  from electron is used to create a  proton gradient which is than used to power production.

      *****************************************

             QUESTION #No(3)

        ANS...

                Nucleotide....

                           Nucleotide is the  bullding block of two crucial maromolecule  nucleic acid in living organism called DNA and RNA there are gentic material in of an organisms and are  responsible for passing  character from one generation .Furthermore  they are important in controlling  and maintaining cellular functions.other than these are two macrmolecules  there are several other important nucleotides 

Example...

(ATP) (GTP) are two important energy molecules.

     Nucleoside.....

     .       Nucleoside is a nucleobase attached to sugar molecules usually a pentose sugar ribose or deoxyribose .this linkage refers to as a beta glycosidic bond .the significant feature of the nucleoside of is that if a nucleoside links with a phosphate group eventually it

become a nuclertide or a nuclerside  monophoshate which is the basic unit of nuclecacide.

Example...

       The nucleoside of include cytidine ,uridine, adenosine,thmidine and inosine.

Different between DAN and RAN....

DNA...

     *Deoxyribose nucleic acid.

      *Log term storage of genetic information transmission of gentic information to make other cell and new organism.

* B from double helix strandende molecules consisting of a long chain of nucletide.

*DNA is self replicating .

*AT adenine GC guanine cytosine.

  *   RNA...

         Ribo nucleic Acid  used to transfer the genetic code from the nucleus to the ribosomes to make proteins RNA is used  to transmit genetic  information in some organism and any  may have been the molecules used to store genetic blue prints organism .A.form  helix RNA usually is a sigle strand helix consisting of shoter chain of nucletide ribose sugar phosphate backbone adenine guanine cytosine uracill bases Au .  adenine uracil Gc ..guanine cytosine compared with DNAand RNA 

Is realatively risistant to uv damage. 

**********************************

Question#No(4)

ANS.....

*Dickens and Horecker pathway

Dickens...

      A secondary patway for oxidation  of _d  gllcose not occuring is sketeal  muscle generation reducing power in the cytoplasm outside the mitochondria and synthezing pentoses and few other sugar pentose phosphate patway.

      Pathway...

        A course us usually  followed in neurological the nervo structure through which a sensory impression is conducted to the cerebral  cortex afferent patway or through which an impulse pass from the brain to the sketeal musculature efferent pathway.

Phases of HMP patway

* There are two distinat phase in the pathway.

*The first is the oxidative phase which is irreversible.

*The second is the non oxidative which is reversible.

* In the first phase NADH is generated.

* While in the second phase synthesis of 

pentose sugar accur.

     Enzyme used in ppp patway.. 

           * The pentose  phosphate  patway  also called the phosphogluconatd  patway and the hexose monophoshate shunt is a metabolic   pathway parallel to glycolys it generates (NADPH)and pentoses (5) (carbon sugar)

as  well as ribose 5phosphate a precursor for the synthesis of nuleotides while the pentose phosphate patway  does involve oxidation of glucose its primary role is anabolic rather than catbolic .the pawthawy is especially important 

In red blood cells erythrocyte.there are two distinct phases in the pathway the first is the oxidation phase in which (NADPH) is the non 

Oxidative  synthesis of 5 carbon sugar  for most

 Organism the pentose phosphate pathway take place most step take place in plastida .similar 

to glycolsis the pentose phosphate patway appear to have a very ancient evolutionary origin .the suggests that the origins  of patway 

Could date back to the prebiotic world.

***************************************

     Question#(5)

Ans......

       Function of carnitine...

                The cornitine shuttle is responsible for transfering long chain fatty acid of the inner mitochondria membrane  to gain access to the 

 enzyme of beta oxidation  .

The carnitine shuttle consists of three

enzyme carnitine palmitoyltransferas 1

(Cpt1A,and Cpt1B) carnintine.acylcarnintine translocase (sL 25A20).and a small soluble molecules carnitine to transport fatty acid as their

long chain fatty acylcarnitine  easter.Beta oxidation take place in four step Dehydration hydrogen  oxidation and thyolisis each step is catalyzes  by a distinct enzyme .Briefly .each cycle of this process begins with an acyl..coa chain and ends with one actyl CoA.

One FADH,2 one NADH and water and the acyl coa chain becomes two carbon 

Shoter Beta oxidation occur in the mitochondria of eukaryotic cell and in the cytosol and in the cytosol of prokaryotic cell.

      Stages and step of beta oxidation of lipids .....

 * Activation of fatty acids.

  * Transport of fatty acid mitochondria.

* Beta oxidation in the mitochondrial matrix.

*********************************

Question (2)

Ans....

     Acyl coa dehydrogenase...

       Acl coA dehydrogenase of are a class  of enzymes that function to catalyst  the initial step in each cycle of fatty acid Beta oxidation in the mitochondria of cells. Difference in the enzyme me occur on location of the active site along the amino acid sequence.

Adenosine deaminase

2 Adenosine  diamenosine  catalyst the conversion of adenine hypocantine and ammonia. The enzyme isolated from escherichia using standard expression condition  was low for the demination of adenine.

The dimension catalyst by an efgicient zinc metabolism, adenosine is ubauitesin virtually all mammaline tissues 

Nucleotides....

3. nucleotide  nucleotide play a catalyst role in the hydrolysis process, and it convertes a number of different nucleotide molecule , when nucleotide is involved catalysing the hydrolysis of a nucleotide this react  reaction is followed.

Nucleotide + H2o___ nucleoside and phosphate .

4.Gluconolavtonase...

Gluconolactonase a gluconolactouse that catalyzes the chemical reaction is  .

It is used in HMP pathway  which converted 6 phasphogluconolactana into 6 phasphogluconate other glucono___1,s ___lacctone + H2o ______ D____ Gluconate.

5Enoyl_ COA hydratase...

Enoyl __ CoA hydrates Enoyl CoA hydrates  catalyzes the sterospecific hydration of alfahaand Bet unsaturated acyl ___CoA thiolester.

THE
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